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(English)

SENTENCE COMLETION (Q.1to Q.3)
Each of the sentences in these questions has blank spaces .Following each sentence four sets of words are
given numbered (a) to (d) . Select the appropriate set of words that makes the sentences most meaningful

1. lam fired ................ writing to him .

(a) with (b) of (c) by (d) from (b)
2. Heis fond................ reading novels .

(a)before (b) of (c) at (d)in (b)
3. My father gets up everybody............. 5 o’ clock

(a) on (b) at (c) from (d) upon (b)
Antonyms

Each of these questions consists of a word, followed by four words .Choose the word that is most nearly
opposite in meaning to the word given in questions (Q.4 to Q.6)

4.DELECTABLE

(a) Agonising (b) Appetising (c) Distasteful (d) Laborious (c)
5.GRAVE

(a) Noble (b) Inconsequential (c) Solemn (d) Senile (b)
6. CONFIDANT

(a) Turncoat (b) Arrogant (c) Confederate (d) Firm (a)

Synonyms (Q.7 to Q.10)
Each of these questions consists of a word, given in CAPITALS, followed by four words. Choose the word

that is most nearly the same in meaning to the word given in CAPITALS. Since some of the questions
require you to distinguish the fine shades of meaning, be sure to consider all the choices before deciding
which one is the best.

7.DISCURSIVE
(a) Rambling (b) Impolite (c) Neglectful (d) Methodical (a)

8. PREJUDICE
(a) Aversion (b) Gestation (c) Preliminary (d) Admiration (a)

9. GOAD
(a) Spur (b) Restrain (c) pursue (d) Supersede (a)

10. TALISMAN
(a) Fiction (b) charm (c) Aptitude (d) Strength (b)



SENTENCE COMLETION
DIRECTIONS : (Q .11 to Q. 15)

Each of the sentences in these questions has blank spaces .Following each sentence four sets of words are
given numbered (a) to (d) . Select the appropriate set of words that makes the sentences most meaningful .

11. Fate smiled............ him in all his ventures .
(a) at (b) with (c) on (d) for (c)

12. Her coming is definite , but about her husband the situation is .................. .

(a) regrettable (b) doubtful (c) questionable (d) unpredictable (b)
13. We think of a dog as man’s best friend . Yet sometimes even the friendliest dog can.............death with its bite .
(a) confer (b) give (c) produce (d) bring (d)
14. | have lost my purse. Can | ............. some money from you ?

(a) borrow (b) loan (c) hire (d) demand (a)
15. How do you................ to score marks on questions which you have not ............ ?

(a) know, seen (b) expect, attempted  (c) want, asked (d) intend , witnessed (b)
Synonyms

Directions (Q .16 to Q. 20)

Each of these questions consists of a word ,given in CAPITALS, followed by four words . Choose the word
that is most nearly the same in meaning to the word given in CAPITALS. Since some of the questions require
you to distinguish the fine shades of meaning, be sure to consider all the choices before deciding which one
is the best.

16. GIST
(a) Contribution (b) Substance (c) Prestige (d) Accessory (b)

17. SOLICTOUS

(a) Nonchalant (b) Firm (c) Reverential (d) Worried (d)
18. HOMELY
(a) Refined (b) Plain (c) Reliable (d) Amiable (b)

19. LOQUACIOUS
(a) Verbose (b) Taciturn (c) Rational (d) Alluring (a)

20. PACIFY
(a) Placate (b) Rouse (c) Harass (d) Rejoice (a)



ANTONYMS
Each of these questions consists of a word , followed by four words .Choose the word that is most nearly
opposite in meaning to the word given in questions (Q.21 to Q.24)

21.ASSET

(a) Credibility (b) Liability (c) Poverty (d) Prosperity (b)
22.SMOTHER

(a) Repress (b) Cheer (c) Nurture (d) Irritate (b)

23.REPRIMAND

(a) Reward (b) Appreciate (c) Encourage (d) Praise (d)
24. TANGIBLE
(a) Gentle (b) Elusive (c) Refined (d) Palpable (b)

SENTENCE COMPLETION

Each of the sentences in these questions has blank spaces .Following each sentence four sets of words are
given numbered (a) to (d) . Select the appropriate set of words that makes the sentences most meaningful
(Q.25 to Q.27)

25.What do you make.............all this ?
(a) with (b) of (c) by (d) for (b)

26.There is the book that you asked ................

(a) to (b) after (c) for (d) from (c)
27.He plays cricket ............... hockey.
(a) besides (b) within (c) after (d) besides (d)

Synonyms (Q.28 to Q.30)

Each of these questions consists of a word, given in CAPITALS, followed by four words. Choose the word
that is most nearly the same in meaning to the word given in CAPITALS. Since some of the questions require
you to distinguish the fine shades of meaning, be sure to consider all the choices before deciding which one
is the best. (Q.18 to Q.20)

28. FAD
(a) Eccentricity (b) Custom (c) Constituent (d) Visage (a)

29. REFERENCE
(a) Disdain (b) Remuneration (c) Opposite (d) Retrospection (d)

30. ZEAL
(a) Initiative (b) Coarseness (c) Pedagogy (d) Indolence (a)



Synonyms (Q.31 to Q.34)

Each of these questions consists of a word ,given in CAPITALS, followed by four words . Choose the
word that is most nearly the same in meaning to the word given in CAPITALS. Since some of the
guestions require you to distinguish the fine shades of meaning, be sure to consider all the choices before
deciding which one is the best.

31. IMPOSTURE
(a) Claim (b) Status (c) Destruction (d) Deception (d)

32. PROBOSCIS

(a) Search (b) Probe (c) Snout (d) Prove (c)
33. PARLEY

(a) Discuss (b) Deliver (c) Sweeten (d) Race (a)
34. FRAUGHT

(a) Wild (b) Frantic (c) Filled (d) Threatening (c)

ANTONYMS (Q .35t0 Q. 38) :-

Each of these questions consists of a word , followed by four words .Choose the word that is most nearly
opposite in meaning to the word given in questions .

35.LEVITY

(a) Praise (b) Blame (c) Solemnity (d) Frivolity (c)
36. OBLOQUY

(a) Praise (b) Crue (c) Slander (d) Dialogue (a)
37. RADICAL

(a) Fashionable (b) Diabolic (c) Conservative (d) Myopic (c)

38. FLAMBOYANT
(a) Lateral (b) Dull (c) Maverick (d) Antique (b)

SENTENCE COMLETION (Q.39t0Q.40)
Each of the sentences in these questions has blank spaces .Following each sentence four sets of words are
given numbered (a) to (d) . Select the appropriate set of words that makes the sentences most meaningful.

19. I hope you ............ mind such a long period between my last letter and ............one .
(a) shouldn’t any (b) never ,the (c) might ,that (d) wouldn’t, this (d)
20. Most of ............. the speaker says is easy to ............... but difficult to practise .

(a) thing ,do (b) matter, hear (c) what, understand (d) ideas, implement  (c)



Maths

Average (3iHa)

1. A car covers four successive 4 km distances at speeds of 10 kmph and 60 kmph respectively . Its average speed over
total distance is
(a) 10 kmph (b) 20 kmph

(c) 25 kmph (d) 30 kmph (b)
1. Th &I ShaA2T: 10 TR it e 3R 60 forelt gy ere & a1fcl & 4 femely &t gt o el €1 et gl ok 3ot 3T
Ifag?

(37) 10 T Ui ger (§) 20 fRaT afa ger
(@) 25 fHe ufay ger (@) 30 fre ufq ger (@)
2.. A cars travels 70 kilometers in one hour before some falut happens, then it travels for 120 km at 30 kmph. For the

entire trip, average speed is
(a) 33 (b) 36

(c) 38 (d) 40 (c)
2.Th R A FT Blec gled A Ygel T8 Ueh T H 70 FhollHIET 1 AT Al €, $8h ST a6 30 fehelleiex Ticy o &hr

TFAR & 120 TR 1 AT el § | T AT o folw, AT arfar &
(37 33 () 36

() 38 ()40 ()

3. The average price of three items of furniture is Rs. 15000. If their prices are in the ratio 3:5:7, then price
of the cheapest item is

(a) Rs. 9000 (b) Rs 5000

(c) Rs. 8000 (d) Rs. 10000 (a)

3. WAl & cfieT TEI3T T 3T HIHAT 15000 T & | Tfe; 3oTeht A 3: 5: 7 o 34T H &, o @ TEH
e P FATE

(37) 9000 & () 5000 &

(&) 8000% () 10000 & (37)

4. Of the three numbers, Second is twice the first and is the thrice the third . If average of the three numbers
is 44, then largest numbers is
(a) 48 (b)36

(c) 72 (d) 60 (c)



4. N AT A H, IR Igel W AT & IR AR & AT &1 I ey Feamsit &1 314 44 &, O T 5137
e §
(37 48 () 36

) 72 () 60 (H)

5. Mr. Danny spends Rs. 10000 monthly on an average for the first four months and Rs. 12000 monthly for
the next eight months and saves Rs. 26000 a Year. His average monthly income is
(a) Rs 12500 (b) Rs 14500

(c) Rs 13500 (d) Rs 1400 (c)
5. T 3T Ugel IR HEI1 & ToIw 39T 10000 9 31 319Te) 3116 AGIAT & folT 12000 T ATIAS T hld

& 3R T I #26000 T FH FUd FQ & | ITH GT AP 3T E
(37) 12500 T9I () 14500 39

(¥) 13500 TG () 1400 T (@)

PROFIT AND LOSS (aITeT 3R g1fe)

6. Ram sold a cow to rahim at 20% profit. Rahim, sold it to Robert at 25% profit. If Robert paid Rs. 900, then ram had
purchased the cow (in rupees) for
(a) 600 (b) 700

(c) 750 (d) 800 (a)
6.TH o Th IMT & 20% oTH W IRH FF o7 AT W o 57 Jac A 25% o W 97 f&ar| 36K

U o 900 T T AT fohaT, T TH & Iy fovcel d0d & @l o
(37) 600 (s7) 700

(&) 750 () 800 (30

7. In purchasing and selling articles, a shopkeeper cheats both seller and the buyer by 10%. His percent gain is
(a) 21% (b) 20%

(c) 15% (d) 10% (a)
7.7 IE] F T IR ST H, Th ghTeieR fashal A TR 2t T 10% Toh €IET ST & | 38T ITId oreT &
(37) 21% (<) 20%

(|) 15% () 10% (37)

8. rajan buys lemons at the rate of 9 for 80 paise and sells them at 11 for 120 paise. His gain per lemon is

200 11
(@) 55 (b) 55



(© o (d) 5 (a)

8. T5ieT 80 4& # 9 & &Y & ofig wliear & 3 120 4/ & 11 W J=ar g1 wfar &g 7= amer §

200 11
(3N 55 ) 5%

120

(&) 55

11
() ) (37)

9. A shopkeeper professes to sell his articles on CP but he uses false weight of 900 gms for 1 kg. His gain percentage is
(a)10% (b)10 % %

(c) 11% (d) 11%% (d)

9. Ush GehIIER 3Tl oGl 1 oI FHed U STl ol &TaT el & olfehe] a8 1 fohell o ferT 900 AT ToTet ol Telct

YT AT ¢ | SHPT AT Il &
(37) 10% (@105 %

(F)11% (@115% @)

Time and distance (F7% 3R {1

10. Two motor cars start from one point and move along two roads at right angles to each other . If their speeds be
respectively 36 km/hr and 48km/hr, then after half and hour they will be x km apart, what is x ?
(a) 30 km (b) 40 km

(c) 12 km (d) 84 km (a)
10. €T AT FR Ueh foig & YLE EIch & IR & ASh! I Teh g@R & FHRIUT TR efcll & | Ife Sefehr 11y shaver: 36 fonelt /

ger 31T 48 TRAT / TeT €, A 3T §¢ & 91¢ 9 Uy fohdT T 376197 gY SITuel, Terg &7 &2
(3 30 ferel () 40 TFa

(T) 12 TRelY () 84 ThaY (31

11. A man covers a distance of 100 km partly by bus at 40 km/hr and partly by scooter at 30 km/hr. His average speed
for the whole journey was 32 km/hr. How far did he go by bus?
(a) 20 km (b) 25 km

(c) 30 km (d) 40 km (b)
11. T 3G HY 100 faFaft Y g 31T &7 @ 40 frell / T T X & o0 qurT AR dT aarg iR 3RF I8 30

TehalT / EieT T gt Tehe T SaRT o &l & | T AT & T 3qeht 3ac a1fet 32 fohadT / €T Y| a8 8 & fehcteit gg ra
qr?




(37) 20 THaY (&) 25 FeT
(T) 30 forelY (&) 20 Tt (b)

12. A train starts from Delhi with a certain number of passengers . At Ghaziabad 110get down and 100 get in .At
Aligarh 50% get down and 25 get in . When the train leaves Kanpur there are 200 passengers . How many did board
the train at Delhi ?

(a) 300 (b) 400
(c) 500 (d) 600 (c)

12. T ¢of feeelt & Teh ffRerd TEear & It & |1 Y& gl & | INSIATsTe A 110 I+ i 36X T 100 IHT I
3R 3refeTe 7 50% #rd 3eR 3 25 AT TS| ST o AL A @TEAT BIcll & cif 200 AN B 8 | [eelt & o 7 fohetar
I FaR A?

(37) 300 (&) 400

(&) 500 (8) 600 @

13.The radius of a circular wheel is 35 cm and it moves at the rate of 500 revolutions per minute. The speed of wheel
is

(a) 50 km /hr (b) 60 km /hr

(c) 63 km /hr (d) 66 km /hr (d)
13. Teh 3eleh R 9T <l 351 35 QAT § 3R Ig 9T AT 500 el o911l & | fgam < a1 &
(37) 50 foreT / Ter () 60 THHAT / TeT

(%) 63 feraT / et (&) 66 foT / EeT (@)
Percentage

14. If there were 50 eggs in the basket and 8 of them broke , what percent of the eggs remained intact ?
(a) 4% (b) 16%

(c) 42% (d) 84% (d)
14. I1E T A 50 373 A 3 37H 4 8 €€ 91T, Al FehcTed TR 375 SRR {5 ?

(37) aufaera () 16 ST

(T) a2 gfaera (&) 84 ufaera ()

15. 9 is 1/4 % of what number?
(a) 0.36 (b) 3.6

(c) 36 (d) 3600 (d)



15. 9 [r T T&IT T 1/4% &2
(37) 0.36 (&) 3.6

(H) 36 () 3600 ()

16. 36 % of 5 as compared to 5 % of 36 is
(a) more (b) less
(c) equal (d) The relationship cannot be determined from the given information

(c)

16.5 FT 36%, 36 & 5% T ool H §
(31) 31e= () A
(&) SRR | (@) e e e St @ feiRa gl frarsrasear (4)



